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The number of parallel paths for lap
wound armatre winding of DC
generator is

(@ 2

) 4

(c) Numbers of poles
(d) depends on manufacturer

. Wave wound armature is best suited

for

(@) low current, high voltage. .
(b) high current, low voltage.
(c) high current, high voltage.
(d) ' low current, low voltage.

Load duration characteristics curve of
a dc generator gives relation between
(@ Vandl

(b) EandI,
(c) E,andL;

(d) VandL
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Laminating armature of DC mschines
reduces
(a) Hysteresis loss
(b) Eddy current loss
(¢) Copper loss

(d) Friction loss

DC shunt generator may refuse to
build the voltage because of

(a) No residual magnetism.

(b). :‘Field winding resistance is more
.than critical resistance.

(c) . Field winding is open circuited.

(d) _Any one among the above three.

A DC shunt geénerator is running at

* 800 tpm generates 200 volts if speed

is 1000 rpm then generated voltage'

- will be
@) 150V

) 200V

©@© 250V
(@ 260V

In DC compound generator series
winding in companson of shunt
wmdmg

(a) will be of thin wire

®) will be of thick wire

(c) depends upon design

(d) will be same
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" The most likely causes of sparking at

the brushes in dc machine is

(a) open coil in the armature.

(b) defective interpoles. ’

(c) incorrect brush spring pressure.
(d) All of the above.

Primafy reason for - providing
compensating . windings in dc
generator is to -

(@) Compensate for decrease in
main flux.

(b) Neutralize armature flux.

() Neutralize cross magnetising

flux.
(d) maintain . uniform flux
distribution.

In a 4 pole, 25kW, 250V wave wound
DC shunt generator the current in
each parallel path will be

(@) 625A
) 125A
(c) 31.25A
d 250A

The speed of a DC shunt motor can
be increased above normal speed by

(2) increasing the field current.
(b) decreasing the field current.
(c) decreasing the terminal voltage.

(d) increasing  the  armature
resistance. _
.P.T.0.
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the diréftion of rotation of dc
compount motor can be reversed by
interchanging connections of
(a) Armature
(b) Series field
(c) Shuntfield
(d) Armature and Series field

Which of the following motor is
suitable for electric locomotive ?

(a) * DC shunt motor

(b) DC series motor

() DC short shunt compound motor
(d) Dc long shunt compound motor

In DC series motor the armature

current is reduced to 70% of it’s
original value, the torque of the motor
will be reduced by
@ A9%
b) 51%
) 50%

(@ 70%

DC series motor is always started at

;- some load to

(a) limit the flux
(b) limit the current
(¢) limit the speed
(d) avoid sparking

The starting torque of DC shunt
motor is

(a) zero

(b) high
(c) very high
@ low
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If the supply voltage to a DC shunt .

. motor, is. increased by 15%, then -

which of the following will reduce ?
(a) Fullload current
(b) Fullload speed

- (c) Starting torque

18.

(d) None of the above

3 point starter is suitable for motors

" (a) Shunt motor .: -
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(b) Series m0t6i:
©) Compound’jmotdr"* -
(d) Allofthe shove -

If the applied voltagé to'a dc machine
is 230V then the back emf for
maximum power developed is-

{a) 230V ' ~

‘(b) 460V

(© 115V
d 575V

An ideal transformer does not change |
(a) Voltage =

(b) Power

(c) Current

(d) None of these

The no load current in a transformer

lags the applied voltage by
(@ 0°
(b) 78°
(© 9%0°
(d 118°
P.T.O.
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The flux ifitansformer core

(@) Remains unchanged with load
(b) Increases with load

(c) Decreases with load

(d) None of the above

A transformer may have zero voltage
regulation at

(@) ZeroPF

(b) Unity PF
(c) Lagging PF
(d) Leading PF

Open circuit test on a transformer is
performed basically to determine

(a) Voltage regulation
(b) Copper loss

(c) Ironloss

(d) Leakage impedance

The thickness of transformer core
laminations is

() 3mmto5mm

(b) 035mmto0.5mm
(©) 30mmto 50 mm

(d 0.035 mm to 0,05 mm

In a single phase transformer iron
loss is 200 watts and full load copper
loss 400 watts. Find total loss at half
full lpad, -

(a) 400 watt
®) 200watt
) 700 watt
(d) 300watt -
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At what power factor efficiency of

the transformer will be maximum ?

(a) zero
(b) 0.8 lagging
c) 08 leadiﬁg
(@ unity

The transformer oil should have
(@ low viscocity

(b) good resistance

(c) high dielectric strength
@ Alloftheabove

Two transformers are operating in
parallel, their load sharing will
depend upon ’

(a) maximum efficiency

~{b) wvoliage ratio

(c) per unitimpedance
(d) cooling method

Which of the following connection of

the transformer will give the highest

secondary voltage ?
(a) Delta Primary, Star Secondary
(b) Delta Primary, Delta Secondary .

(c) Star Primary, Star Secondary
(d) Star Primary, Delta Secondary

P.T.O.
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ELECTRICAL MACHINES-I
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- Time allowed : Three Hours] . " [Maximum Marks : 70

T . (i) BT FEr & oy 3 @ Rt e & s B
Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(ii) TR 7T & Fod} O W A O g S [
Solve all parts- of a question consecutively together,

(iii) AT 7T B 78 7T G IR HRT |
Start each question on a fresh page.

(iv) S st 5 o g1 @ Raf oF oot v s & 1

Only English version is valid in case of difference in both the languages.

L () Roen & shoeer s = Rt oAbt |
Define voltage regulation of a transformer.

(i) RumT Hex F Sy e |
Write down uses of D.C. Motor.
(itl) e wftrfdrar & war e ¥ 2
- What is meant by armature reaction ?
(iv) Ronfie %1 9 wR W e ooy @i |
| Draw equivalént ckt of uénsfonner at no-load.

(v) Rezur afel & weR & oo e e § o
What are the advantages of parallel operation of D.C, generators ? - (2x5)

@®) | P.T.O.
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Describe working principle of D.C, generator with the help of dlagram

Mﬁwsﬁﬁmmaﬁwtrmmwﬁiﬂ#%qmﬁm
e e woETeY |

Explam procedure to draw megnetisation curve for self exclted D.C. generator in
laboratory with ckt diagram. (6x2)

ﬁmwﬁﬁﬁﬁmmmﬁﬁﬁmﬂmﬂ |

Explain in detail the various losses taking place in D.C, Machine.
wmmwwﬁammwwﬁﬂmﬁﬁm ]

Draw a neat diagram of a D.C. Machine and explain function of all its parts, (6x2)

T WY Wiet Y WY AR R e 9 R SR RO e |
Explain working of four point starter used for a D.C. Motor with neat diagram.
e iz s 3 e raror =) b it 2t s | o

Explain various methods of speed control of D.C. Shunt Motor. (6x2)

e % fesgerar el g R wheror = W |
Explain swinborn test on D.C. Machine in laboratory.
mmﬁmm%?mmqﬁﬁmmﬁ%mm |

What is meant by armature reaction ?- Write its effects and remedies to reduce
them, ; - (6x2)

WZkVA 500/250V, 50 Hz wwr %o qRunfi & faw gon wiae w we iy
mwmwm | oy # I R A ST B W
[

Explain with connection diagram open ckt and short ckt test for 2 kVA,
500/250 V, 50 Hz 1¢ transformer. Also mention the range of instruments used.-

T 50 kVA gRovfer 3 FRg i st A 144 T R W (a) T (b) 0.8 R O

T TR R HINC | goF WK R AR B 1000 A w9 e et 800 watt ¥ | :
Calculate the efficiency at half load and 1% full load of 50 kVA transformer for

power factor of () unity (b) 0.8. The Cu loss at full load is 1000 W and iron loss
is 860 watt, (6x2)

P.T.O.
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Explain voltage regulation of a single phase transformer. Deduce an expression
for the percentage voltage regulation at full-load and lagging power factor load.

(i) 7% 40 kVA gt % ohe bt 450 2 v ot 712 T o it 800 Az ek & 1 2k

W 1 A 7T 0.8 et &, o g |
(a) ot WK TR qwwan
(b) nmﬁwqtmqmmﬁrﬁ

(o) witew e

A 40 rkVA transformer has a iron loss of 450 watt and full load Cu loss of 800
watt. If the p.f. of load is 0.8 then calculate.

(a) the full load efficiency
(b) the load at which maxlmum efﬁciency oceur
(c) the maximum efficiency o (6x2)

Tt it o Revafira} e 1

Write short notes on any two :

@@

¥ R U 4R W &9 uftede
off load and on load tap changer

(i) eETEE e aRemReE W

back to back test on tra_nsfqrmer

(iii) ufeonfier i wqaea aRtee

Eqv ckt of transformer | o (6x2)

v
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